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QUESTION 1

The CE-SPUs of the CE12800 on an SDN network employs which of the following redundancy methods? 

A. 1:1 

B. 2+1 

C. 3+1 

D. 5+1 

Correct Answer: A 

 

QUESTION 2

The OpenFlow protocol in SDN architecture is led and actively promoted by the IETF. 

A. TRUE 

B. FALSE 

Correct Answer: A 

Reference: https://www.mdpi.com/1999-5903/6/2/302/htm 

 

QUESTION 3

Which statements about the link-state algorithm are true? (Choose all that apply.) 

A. The link state is the description of a route. 

B. The link state describes the network topology. 

C. The link state algorithm does not generate route loops. 

D. OSPF and RIP use the link state algorithm. 

Correct Answer: CD 

 

QUESTION 4

Which of the following statements are true about the DIS in IS-IS? (Choose all that apply.) 

A. A DIS creates and updates pseudo nodes on a broadcast network. 

B. DIS election is unpredictable. 

C. When all IS priorities are the same within a LAN, the IS with the largest MAC address is elected as the DIS. 
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D. DIS election on a broadcast network is held in preemption mode. 

Correct Answer: AC 

Reference: https://support.huawei.com/enterprise/en/doc/EDOC1100055485/4110e8a/basic-protocols-ofis-is 

 

QUESTION 5

For a router that runs BGP4, which of the following statements is not true? 

A. When multiple paths exist, BGP4 selects the optimal path. 

B. BGP notifies the routes obtained from EBGP to all its BGP peers. 

C. BGP advertises to BGP peers only the routes it uses. 

D. BGP4 notifies the routes obtained from IBGP to all its BGP peers. 

Correct Answer: B 

Reference: https://support.huawei.com/enterprise/en/doc/EDOC1100028526? section=j06yandtopicName=configuring-
bgp4-load-balancing 

H31-611 PDF Dumps H31-611 Study Guide H31-611 Exam Questions

Powered by TCPDF (www.tcpdf.org)

H31-611 PDF Dumps | H31-611 Study Guide | H31-611 Exam Questions                                3 / 3

https://www.pass4itsure.com/h31-611.html
https://www.pass4itsure.com/h31-611.html
https://www.pass4itsure.com/h31-611.html
http://www.tcpdf.org
https://www.pass4itsure.com/h31-611.html
https://www.pass4itsure.com/h31-611.html
https://www.pass4itsure.com/h31-611.html

